Bouvptolopévo avoEe(dwto 304/31650 XIALOGTASIEUETPOC YUAALVEG KAPPITOEC Yl YUAAWEG pdyec. Ot
YudAwec kappitoec standoff epapudlovtal EVPEWC Yo YOAALVA KLYKALOWHATO UTTOXAKOVLWY /
KATAOTPWHUATOG / OKOAOTIATLWV.

- XapaKTNPELOTIKA Twv akidwv and yuaAl

ztowxelo apib. SF-50

Aldotaon 50mm DIA, 50 * 12mm cap, 50 * 30mm body

MmovAdvL okLpodEUATOG|M12 * 120 MIMOA

Z0Awn Bida M12 * 72

YAkS 304/316 SS

dwipLopa ﬁ;:s;ggzﬁfr\l)eoécrx]aTév, YUQALOMEVO KaBPEPTN, emioTpwan padpng okévng /

- ZaTwé @uiptopa SF-50 yudAwoug melpoug

- pwiplopa KaBpépTn and yvaAl SF-50



- avpo Xpwua SF-50 yvdAwvoug nelpoug



- TvdAwn cvokevaaia avauovic-
1 tep o€ Agukd kouTi, 20 TEpdyLa o€ KOUTL



-AAQ LOVTEAQ YUEAWWY aK{BWY



)~ = SF-30
d = SF-40 = AISI304
= SF-50 = AISI316
= SF-50A

= AISI 304
SF-38Z |, ais1316

« AISI 304
" SFS0T | Alsi316

Parl No. Material

Part No. Material

Part No. Material

Finish

= Satin
= Mirror

Finish

= Satin
= Mirror

Finish

= Satin
= Mirror

Body

= 30x10; 30x25mm
= 40x10; 40x¢30mm
= 50x12; 50x30mm
= 50x12; 50x50mm
= silicon rubber gasket

included

Body

= hollow type

= 38x7.5:38x38mm

= sjlicon rubber
gasket included

Body

® 50x10;50x30mm
= silicon rubber
gasket included

- dwToypaiec £pyov KAYKEAD XwpI(C KovpwuaTa Ywpeic mAalalo

Boll size

= M10x120 bolt

= M10x72 wood screw
= MBx100 bolt

= M8 x72 wood screw

Bolt size

* M8x70 hexagonal
screw

® 200x100x10mm

Mounling plale size



A

\
(NN 5.“.\\‘1: \







